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Note :

(i)

(i)

(iii)

(iv)

v)

(vi)

qoTTT F i QA U, AT A E |

There are three sections A, B and C in the paper.

Qe U H 597 gEar 1 % @41 10 T 3 3R AT | T YT U 3% H 8 T
a5} 10 97T TGE FFR % T H & |

Answer all the 10 parts of the question No. 1 in section A. Each part carries
one mark and all 10 parts have objective type questions.

e &t & 8 g 7 @ s 6 o & I T | I T 3 3% F1 8 TF
797 5 TET/50 V=gl A I T |

Answer any 6 questions out of the 8 questions in section B. Each question
carries 3 marks and to be answered within 5 lines/50 words.

ST & % 6 F 7 @ a4 F9 % I G | 5 57 8 3F FT 20T
3797 15 75/150 Y51 8 I G |

Answer any 4 questions out of the 6 questions in section C. Each question
carries 8 marks and to be answered within 15 lines/150 words.

WW%WW%?WWWWW/

Solve all the questions of a section consecutively together.
oY T3 & or g 1 1Rt 7 St AR T=E |
Only English version is valid in case of difference in both the languages.

ARE-T
SECTION - A

1. Q) fepeft repTa B et ool G S 1Y Tl §
(2) T (b) whafda
(c) & (d ¥

Total energy of any system remains with time
(a) Constant (b) Converted
(c) Erosion (d) Fill
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(i) 9Ty AT ok § SRR gl &
(a) & (b) seM
(c) Ul (d) T
What is working substance in air standard cycle ?
(a) Air (b) Fuel
(¢) Water (d) Magnet
(i) gvefen vy A
() WEHEEHAI@R | (b) oIS 1 GTd TS A1 R |
(c) IS HIGaEd RRWIIAMR | (d) 390§ T HE 78
In throttling processes,
(a) fluid pressure is reduced (b) fluid pressure is increased
(¢)  fluid pressure is kept constant (d) None of the above
(V) Q=W=1h (hy—hy) + 5005 (C;2 — C,2) Fefiertor sl &

(a) TR afiet gdfiem (b) TR figer wefie
(c) TOR yaTg Sorl wdfiem (d) Trafa g

Q-W=1h (h, ~h;) + 5505 (C;2 — C;2) equation is called

(a) Steady evaporative equation  (b) Steady cooling equation
(¢) Steady flow energy equation (d) Vacuum equation

(V) HEIER hT TR e § fore o gfg B R 7

(vi)

(a) B ES R TEE U A gt FF |

(b) TS W GHTE I HH H |

(c) TSTE HIHIS U9 TE |

(d) I § Y IS TE

Volumetric efficiency of compressor increases due to
(a) increase pressure ratio in each stage.

(b) reduce pressure ratio in each stage.

(c) no effect of pressure.
(d) None of the above

FIIIH % <EE & 3 o 99 B
(a) AT (b) Fgferm
(0 @l d)

Temperature at end of pressure of compression would be
(a) more (b) moderate
(c) immoderate (d) less
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(vii) ot S 2
(a) @A (b) &
(c) Sftared (d) FaEn
Diesel fuel is
(a) Liquid (b) Dust
(c) Fossil (d) Mist
(viii) Teh 2 UFSRIE (TR) § &id 8
(a) 200 Btu/min. (b) 3024k cal/hr.
(©  (a) 3 (o) TH (d) SRIH H E HlE T
A ton of Refrigeration (TR) have
(a) 200 Btu/min. (b) 3024 k cal/hr.
(¢) (a) & (b) both (d) None of the above
(ix) % o HRGH A YFT A ot T areft o HH € g ?
(a) @fdmemn (b) e TR
(c) &N (d) R
Which device is used in ice plant ?
(a) Heating tower (b) Cooling tower
(c) Tower (d) Power
(%) R S HI AT B 3
(a) = et AH

(b) 3 ST AIHE

(c) TET % A STEdiet IeTE T&| ST
(d) ST Tt

Requirement of good fuel is :

(a) High calorific value

(b) Proper ignition temperature
(c) Not produce poisonous products during combustion

(d) All of the above (1x10)
YR — ¥
SECTION -B

2. ST 1 qHETEY |

Explain thermodynamics. (&)
3. SIS =5k ol GHESY |

Explain Carnot cycle. 3)
4. wufifed a1 % AT AT |

Write uses of compressed air. 3

P.T.O.
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5. orms.dh 3o w1 afietor i |
Explain classification of [.C. Engines.
6. 1.3, = EHETS |
Explain COP (Coefficient of Performance).
7. 3 sk ! THATEY |
Explain Otto cycle.
8. o s I THITEY |
Explain Vane blowers.
9.  3TICET $9 o B FaTsY |
Explain functions of I.C. engine.
U ~ Wl
SECTION-C
10.  SSATTIEAT % ST ! AT |
Explain law of thermodynamics.
11. =E-wA e 1 augmsd |
Explain steady flow system.
12. TR HEITH % 10T 9 Y Farsd |
Explain merits and demerits of multistage compression.
13. 9q:E 9 fg-521eh 9 6l gorT ot Tmensd |
Explain by comparison of four stroke and two stroke engines.
14. 3T =36 1 P-V 9 T-S 3IRT W THIAT TS IHeh! C&TAT 1 T A hISTT |
Explain the Otto cycle on P-V and T-S diagram and derive its efficiency formula.
15. o aedifed =sn 6 fafi= gfemat o awemsd |

Explain vapour compression cycle with its various components.
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